
EXPERIMENT 2a. Report form.
Fig.1.Circuit under test

Table 1. Circuit elements :

	R1

k Ω
	R2

k Ω
	R3

k Ω
	R4

k Ω
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k Ω
	R6(RL)
k Ω
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V
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TASK 1. Open circuit voltage measurement.

Insert SPICE circuit enabling us to measure open circuit voltage (remove load resistor. Place this voltage in Table 2 (complete the table with laboratory measurement and homework calculations)
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Table 2.

	
	Lab. 

Meas.
	Home
Cal.
	Spice
Simul.

	Veq (VOC )      V
	
	
	



TASK 2. Short-circuit current measurement.

Insert SPICE circuit simulating short-circuit current is measurement. Place this result in Table 3 (add laboratory measurement and homework calculation).

HINT: Model the short-circuit branch by  resistor having small value or voltage. 
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Table 3.

	
	Lab. 

Meas.
	Home

Cal.
	Spice

Simul.

	iS     

mA


	
	
	


l
TASK 3. Equivalent resistance measurement.

Insert SPICE circuit  Req measurement simulation. Place this result in Table 4 (add laboratory measurement, homework calculation and result following from veq and is simulations), attach calculations!

HINT: SPICE is not equipped with ohmmeter – use standard definition of resistance.

[image: image3.png]e Edt Draw Navigate View Options Anslysis Tooks Markers Window Help

o
x

=(a| 8] 4[] o[- slalaR]] s/<oR I |

als|| OB [~ <] 212l [V T 5

2

@m)

c
GND_ANALOG

Rbreak
vbc

1

(s

3

1%, 0.0

iutosaving compete




Table 4.

	
	Lab. 

Meas.
	Home

Cal. 
	veq/is
from simulations
	Req

from direct SPICE simulation

	Req     

k Ω

	
	
	
	


TASK 4. Current iL measurement. 
Insert SPICE simulation of Thevenin’s and Norton’s equivalent circuits used to calculate load resistance current iL. Fill Table 5 .
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Table 5.

	
	Lab. 

Meas.
	Home

Cal. 
	From Thevenin’s
circuit
	From 
Norton’s

circuit

	iL     

mA

	
	
	
	


TASK 5. Branch currents calculations.
Simulate all circuits (in SPICE program)  necessary to confirm superposition theorem (for circuit presented in Fig.1). 

Complete Table 6.
Copy appropriate  schemes from the simulator containing current values with reference  directions.
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TABLE 6

	Measured  →

currents
	i1
	i2
	i3
	i4
	i5
	iL

	Acting sources   ↓
	mA
	mA
	mA
	mA
	mA
	mA

	Vs1
	
	
	
	
	
	

	Vs2
	
	
	
	
	
	

	Vs1 and Vs2
	
	
	
	
	
	

	Algebraic sum of responses
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